



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{3} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{2} =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{3} = \frac{19}{48}$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \left(-\frac{13}{6}\right) = \left(-2\frac{1}{6}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{3}{4} = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{45}$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{1}{3} = \frac{19}{9} = 2\frac{1}{9}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{43}{50}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{5} = \frac{14}{45}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{9}{2}\right) = \left(-4\frac{1}{2}\right)$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(-\frac{1}{2}\right) - \frac{1}{6} = \left(-\frac{2}{3}\right)$$

$$\left(\frac{1}{4}\right)^{(-2)} + \frac{3}{4} = \frac{67}{4} = 16\frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \frac{1}{2} = \frac{27}{4} = 6\frac{3}{4}$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{2} = (-3)$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{3}{4} = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{2} = \frac{7}{6} = 1\frac{1}{6}$$